m Uncabled Unshielded

M Cabled Shielded
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Gain 3

ADC Signal

200 66.67

210 70.00

200 66.67

205 b8.33
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Gain 0.3

ADC Signal
200 666.67
210 J00.00
200 666.67
205 633.33

M Cabled Shielded

m Uncabled Unshielded




53 176874 642 264 NaN 0 76.96793 -6.70554 0
Bucke 53 176877 778 275 NaN 0 80.17493 3.206997 0
53 176878 654 283 NaN 0 82.50729 2.332362 0
140 53 176881 782 281 NaN 0 819242 -0.58309 0
53 176882 685 266 NaN 0 77.55102 -4.37318 0
53 176885 781 278 NaN 0 81.04956 3.498542 0
53 176886 723 265 NaN 0 77.25948 -3.79009 0
53 176889 780 261 NaN 0 76.09329 -1.16618 0 Gain  Crosstalk (%)
120 53 176890 809 273 NaN 0 79.59184 3.498542 0 3.43 0.20
53 176893 779 286 NaN 0 83.38192 3.790087 0
53 176394 650 283 NaN 0 82.50729 -0.87464 0
53 176897 780 276 NaN 0 80.46647 -2.04082 0
53 176898 762 279 NaN 0 81.34111 0.874636 0
54 176733 779 196 NaN 0 158.0645 1
100 54 176734 774 189 NaN 0 152.4194 -5.64516 0 Gain  Crosstalk (%)
54 176737 778 179 NaN 0 144.3548 -8.06452 0 1.24 0.47
54 176738 743 205 NaN 0 165.3226 20.96774 0
54 176741 781 191 NaN 0 154.0323 -11.2903 0
54 176742 726 210 NaN 0 169.3548 15.32258 0
a0 54 176745 779 192 NaN 0 154.8387 -14.5161 0
54 176746 692 196 NaN 0 158.0645 3.225806 0
54 176753 779 193 NaN 0 155.6452 -2.41935 0
54 176754 682 186 NaN 0 150 -5.64516 0
54 176757 777 202 NaN 0 162.9032 12.90323 0
54 176758 808 205 NaN 0 165.3226 2.419355 0
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Crosstalk (%) Distribution GUI 493 All Channels

M Cable Shield

® Mo Cable Mo Shield
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Crosstalk (%) Distribution GUI 493 Normal Gain

B Cable Shield

® Mo Cable Mo Shield
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Crosstalk (%) Distribution GUI 493 Traces

M Cable Shield

m Mo Cable Mo Shield




Crosstalk (%) Distribution GUI 493 Traces Normal Cal (>1.8)

The No Cable No Shield
detector has generally
higher gain, which would

make Crosstalk measure
lower.
Should | do something to

try to remove that effect to
compare these, maybe
channel by channel?

M Cable Shield

® Mo Cable Mo Shield
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Cable Shield {Crosstalk vs Cal)
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Mo Cable No Shield (Crosstalk vs Cal)
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Cable Shield {Crosstalk vs KPiX)
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Cable Shield {Crosstalk vs KPiX)
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No Cable No Shield {Crosstalk vs KPiX)

No Cable No Shield (Crosstalk vs KPiX)
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Cable Shield {Crosstalk vs HAMA)
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Cable Shield {Crosstalk vs HAMA)
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